
SAP ABAP table /BEV3/CHBK1080D1 {Data Display Structure}

_BEV3_CHBK1080D1

VWVORG [NUMC (4)]

VBKL_STL1 [CHAR (4)]

RI_STL1 [NUMC (6)]

BEDINGG53 [NUMC (4)]

VBKL_STL2 [CHAR (4)]

RI_STL2 [NUMC (6)]

BEDINGG54 [NUMC (4)]

VBKL_STL3 [CHAR (4)]

RI_STL3 [NUMC (6)]

BEDINGG55 [NUMC (4)]

ABRINF10 [NUMC (4)]

BEDINGG56 [NUMC (4)]

ABRINF11 [NUMC (4)]

BEDINGG57 [NUMC (4)]

ABRINF12 [NUMC (4)]

BEDINGG58 [NUMC (4)]

ABRINF13 [NUMC (4)]

BEDINGG59 [NUMC (4)]

BEDINGG60 [NUMC (4)]

BEDINGG61 [NUMC (4)]

BEDINGG62 [NUMC (4)]

_BEV3_CHCBDG

MANDT [CLNT (3)]

BEDINGG [NUMC (4)]

 /BEV3/CHBK1080D1-BEDINGG53 = /BEV3/CHCBDG-BEDINGG 

0..N

1

 /BEV3/CHBK1080D1-BEDINGG54 = /BEV3/CHCBDG-BEDINGG 

0..N

1

 /BEV3/CHBK1080D1-BEDINGG55 = /BEV3/CHCBDG-BEDINGG 

0..N

1

 /BEV3/CHBK1080D1-BEDINGG56 = /BEV3/CHCBDG-BEDINGG 

0..N
1

 /BEV3/CHBK1080D1-BEDINGG57 = /BEV3/CHCBDG-BEDINGG 

0..N

1

 /BEV3/CHBK1080D1-BEDINGG58 = /BEV3/CHCBDG-BEDINGG 0..N

1
 /BEV3/CHBK1080D1-BEDINGG59 = /BEV3/CHCBDG-BEDINGG 

0..N

1
 /BEV3/CHBK1080D1-BEDINGG60 = /BEV3/CHCBDG-BEDINGG 

0..N

1
 /BEV3/CHBK1080D1-BEDINGG61 = /BEV3/CHCBDG-BEDINGG 

0..N

1  /BEV3/CHBK1080D1-BEDINGG62 = /BEV3/CHCBDG-BEDINGG 

0..N

1

_BEV3_CHCTABRINF

MANDT [CLNT (3)]

ABRINF [NUMC (4)]

 /BEV3/CHBK1080D1-ABRINF10 = /BEV3/CHCTABRINF-ABRINF 

0..N

1

 /BEV3/CHBK1080D1-ABRINF11 = /BEV3/CHCTABRINF-ABRINF 

0..N

1

 /BEV3/CHBK1080D1-ABRINF12 = /BEV3/CHCTABRINF-ABRINF 
0..N

1

 /BEV3/CHBK1080D1-ABRINF13 = /BEV3/CHCTABRINF-ABRINF 
0..N1

_BEV3_CHCTRGI

MANDT [CLNT (3)]

RGIDENT [NUMC (6)]

 /BEV3/CHBK1080D1-RI_STL1 = /BEV3/CHCTRGI-RGIDENT 

0..N

1

 /BEV3/CHBK1080D1-RI_STL2 = /BEV3/CHCTRGI-RGIDENT 

0..N

1

 /BEV3/CHBK1080D1-RI_STL3 = /BEV3/CHCTRGI-RGIDENT 0..N
1

_BEV3_CHCTVB

MANDT [CLNT (3)]

VBKLASSE [CHAR (4)]

 /BEV3/CHBK1080D1-VBKL_STL1 = /BEV3/CHCTVB-VBKLASSE 

0..N

1

 /BEV3/CHBK1080D1-VBKL_STL2 = /BEV3/CHCTVB-VBKLASSE 
0..N

1

 /BEV3/CHBK1080D1-VBKL_STL3 = /BEV3/CHCTVB-VBKLASSE 0..N

1

_BEV3_CHCVWVORG

MANDT [CLNT (3)]

VWOBJPRO [NUMC (4)]

VWVORG [NUMC (4)]

 /BEV3/CHBK1080D1-VWVORG = /BEV3/CHCVWVORG-VWVORG 

0..N

1


